
12th July                                                     12th July                                                     

Write 61% as a decimal
Write 0.17 as a percentage

What is the rule for carrying on the 
sequence?

Explain why 8028 is not a term in 
this sequence.

A taxi journey costs £3 for 5 miles.

How much is the cost for a 90 mile 
journey?

Make w the subject of the formula 

             

The ratio of green to blue counters 
in a bag is 3:5.

There are 9 green counters.

How many counters are in the bag?
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